Percentage of an Amount I

(\

—— REVISE THIS
1S T

1 (a) Work out 10% of 720 @

+10 =10 29

(b) Work out 50% of 120

|20 = 2 60

(c) Work out 1% of 800

800 = 100

(d) Work out 25% of 44

G4~ 4 |

(e) Work out 10% of 35

35+ 10
3-S5

(f) Work out 50% of 11

[1+ 1L

‘ (Total for Question 1 is 6 marks)
1
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2 (a) Work out 20% of 300 @

\O°/o = 30
Klg R Dn)_
o - 0
20% =6 EO

(b) Work out 5% of 260 (2)

A9 /o-a_e
5%+ | 13

1)
(c) Work out 1% of 40

40 + 100
0-4

¢))
(d) Work out 40% of 60

M (|0°/°:6 )x‘\-

S 40% = 4 964

(2)
(e) Work out 15% of 180

10%= 18
+ SO/D: c‘

AR ! 13

(2)
(f) Work out 70% of 4100

\Oolo = 4 |O
(5o 29700

ﬁ (Total for Question 2 is 10 marks) @)
2
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\O'/ozq'g
\O'/o = Ll-g
\O'/o=q’8

Solo = LU

35% = | 6%
4 Work out 65% of 160

S0%= €0
10°e= |6

-4 So/o = %

_‘-

65% = (104

5 Work out 22% of 30
|O’/o = 30
10’0 = 30
| " =0-3
| "o =0-3
L% = 66

_‘—

6 Work out 95% of 6000

|0°/ = 600
S% = 300

R

www. 1stclassmaths.com

==

|68

(Total for Question 3 is 3 marks)

&)

[OY%

(Total for Question 4 is 3 marks)

&)

6 b

(Total for Question 5 is 3 marks)

(0070 = 6000
S% = 100
qsolo = §300

(Total for Question 6 is 3 marks)
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7 Work out 0.5% of 280

®)
,_IC 1°/o = 2-8 .1

L ogm=tud”

|4

(Total for Question 7 is 2 marks)
8 Work out 120% of 400 @
100° = %00
0% = 4O
+ (0%l = %O

20°/o ~ R0
| 430

(Total for Question 8 is 3 marks)

10% of 95 or 15% of 647 g

You must show all your working.

10% = 95 (0% = 6%
£ ST=132
\50/’ = % 6

9 Which is greater

M

\Sola 9_& 6“\‘

(Total for Question 9 is 4 marks)
4
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10 (a) Work out 13% of 740 [calculator allowed]

I40ox 012

(b) Work out 9% of 550

SS0 x0-09 49§

(c) Work out 63% of 808 (2)

308 x 0:62
509 04

(d) Work out 87% of 14700 (2)

%300 x O- %%

12189

(e) Work out 126% of 310

210 x |16

390 b

(f) Work out 9.5% of 6010

6010 x 0-095

070-9S

(g) Work out 13.5% of 1180

[180 X O- 135
\S 9. 3

(Total for Question 10 is 14 marks)

5
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11 A bag contains 300 pencils. @
20% of the pencils are red.
12% of the pencils are blue.
Work out how many more red pencils there are than blue pencils.
L]
(0% = 20 107,
° o
3. 0 / o~ b 0 l /°
(] - 3 —
+ |70 = Ll.

12%, = 36 'Lq,

(Total for Question 11 is 4 marks)

"
@)
O RY

1
w
|

12 Stan receives £140 for his birthday.
He spends 35% of the money and saves the rest. @
Work out how much money Stan saves. ‘3

b \
°/, = {0
0°/o= 1Y s
o —_—
O / o= l+
o
O / o~ Ll' Al
o -
S%h = *
35 %0~ 49 1

£
(Total for Question 12 is 3 marks)

13 Erica spends 2 hours revising.
She spends 40% of this time revising for maths. @
Work out how many minutes Erica spends revising for maths.
LX 60 = 120 minutes

“WL 0% = IL mmsl"“’
q—oo/o = ‘-I'S Mmins

48

(Total for Question 13 is 3 marks)

minutes
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14 A car’s fuel tank can hold a total of 60 litres of fuel.
Steve adds fuel to the fuel tank so that it is 80% full.

Each day Steve uses 15 litres of fuel to travel to work and back.

Will Steve have enough fuel to travel to work and back for the next 3 days?
You must show your working.

x;;(lov/o - 6 Yt ISx3:4S
goo/o - (-l'? q,g>l+5

Ves

(Total for Question 14 is 4 marks)
15 Zara wins £5000

She keeps 70% for herself and shares the remainder equally between her two siblings.

Work out how much money each of Zara’s siblings receives.
N (|O°/o = ES00 Vet
YyJY0% ¥ 3500

. (2a00)
5000 035 0O

- 3500 iS00 . 350
1So0o0

(Total for Question 15 is 4 marks)
16 A theatre has 900 seats.
Tickets for a show are sold for £3 each.
One night the theatre sells enough tickets to fill 95% of their seats.

Work out how much money the theatre makes from ticket sales.

0% =90 (00% =900 %5',55
5% =45 — S%= 4% L_—

156 S
95 % = RSS Vo

. 1565

(Total for Question 16 is 4 marks)
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17 There are 850 students at a school.

On Monday the attendance was 94%
On Tuesday the attendance was 92%

Work out how many more students attended school on Monday than on Tuesday.

Sox 0% =399
250x0-92= 182

18 A bag of flour weighs 2 kg.
A baker uses 18% of the bag for a recipe.

Work out how much flour is left in the bag.
Give your answer in grams.

) x 000 = 20004
2000 x 013 = 360
2000 - 36o=| 64O

19 A rectangular wall measures 5 metres by 3 metres.
70% of the wall is going to be painted.

Work out the area of the wall that will be painted.

SXx2=\Smt
1ISx 0> =10-5

399
- 8L

O3

|+

(Total for Question 17 is 3 marks)

|40

(Total for Question 18 is 4 marks)

105

(Total for Question 19 is 3 marks)
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